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SUBJECT: MATHEMATICS
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Time :2 % Hrs.

Answers to this paper must be written on the paper provided separately.

You will not be allowed to write during the first 15 minutes.

This time is to be spent in reading the Question paper.
) This paper consists of Section A and B of 40 marks each.
The time given at the head of this paper f_s the time allowed for writing

' the' énswers of both Section — A and Section.

':B.'

Answer all the questions from Section— A and any four complete queStiqns from Section - B.
All working including rough work must be clearly shown and must be done on

the '_same sheet as the rest of the answers.

Omission of the essential working will resulit in the loss of marks.
The intended marks for questions or parts of question are given in the brackets [ ]

Mathematical tables are provided.

Section — A {40 marks)

all cards whose numbers are multiples of 3 are removed. A card is now

drawn at random. Find the probability of getting a card Which is :
)] a prime number less than 10.

i) a number dmsible by 5.
' iﬁ) a perfect cube.

iv) a number that is vr‘nultiple of 6.

_ ' [Attempt all questions from this Section.]
‘Question1 - - = ' -
a) Find the values of x and y if: 3]
-4 , 1 y+5 7 0 :
2[2 x]+.[o "= [10 5] |
b) Sanjay opened a Recurring Deposit Account in a bank and deposits ¥ 300 per month [3]
for two years. If he received X 7725 at the time of maturity rnd
) the rate of interest per annum
i) the total interest earned.
c)  Froma pack of 30 cards marked with numbers - 1,2, 3, 4, ... . 30, \
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Questnon 2 A s
a) Solve lhe followmg inequation, wnle down the solul:on set and represent it [33

on the real number line. S
—2 < - <2, x EﬂiW

3 R -
b) - In the given ﬁgure A ABC is an lsosceles tnangle with AB=AC 3]
and LABC-—SO" ’
_Find: i)2BDC- ~ i)2BEC — ; . R
'. . > - .- D
B é; éoo § C

E

_'c) The radius'and height of a cone are in the ratio 1 : 3. The area of the base is 154 cm?. 4]

Find the curved surface area of the cone. (use T = 22/7).

Question 3
_' ., tan@ -—cotf 29 2
a)  Provethe |dentqy- g cosg = Sec- 6. cgsec e 3]
b) Solve the quadratic equatlon 2x%2—3x =1 for x and gwe your answer [3@
- correct to 2 decimal places _ : . -
c)  Findthe value of k if (x-2) isafactorof x3+kx?+ 14x—8. . [4]
\ Hence, factorise the polynomial completely after substlituling the value of k.

ngsﬂon#' < ; _
a) If median of given numbers arranged in ascending order 8,10,x +.1,x +3,x + 4 and [3]
19is 13, find x. Hence find the mean.

This paper consists of 6 pn'hted pages ' ) R, W

Scanned by CamScanner



b)

-Use graph paper for this question

E;; “ll_’; {1 1331

- oo, 9821263050, .
Find a, b and c such that the following. numbers are mAF' P -3

7 a, ?.-fi:?’ﬁ-??” €.
[4]

(Take 2cm = 1unit along both x and y axes)

Plot P (0,2) and Q (3.2). Reflect P in the line y = 0 to get P’ and reflect Q in the origin
to get Q.

i) Wiite the go-ordinates of P'and Q"

i) Name two_points from the figure which are mvanant on reflection from

~ theline x=0.
iii)  In what ratio is the line PQ" divided by the line y =0.

Section - B (40'iflarks)

[Attempt any four complete questions from this section.]

ABCD is a rhombus where A(3,6) and C(-1,2) are end points c_Jf one diagonal , find [3]

lhe equation of a diagonal BD.

A man mvests a sum of money on 60 shares available at Z150 of f;'ace value Ed 00 | [3]
i) What is his investment? '

i) Ifthe dividend is 6% p.a., what will be his annual income?

jiil) If he sells one third of shares and get ¥ 3510 as sales proceeds then at what price

did he sell the shares?

- . . - H : o s = - i
1 D JdilU AL —— [4]

respeclively such the DE I BC

i)/ Given that AD : BD =35, Calculate DE
if BC =4.8 cm. *
ii) Find the ratio
Area (A ADE) Area (trapezmm BCED).
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Questlon 7

a)

W ox =

Find the value of & -for which x= 2;is.a solution of the quadratic equation

(k+2)5* — 3 (k+d)x + 18 = »0.7'-Hé;'}ce find the other root of the equation.

3\/m+,1 -+ %/m—,l

3mat - 3m=1

using the properties of proportion.

Using graph paper draw a histogram for the glven drstribution showmg the Weekly

o

, showthat x3 —3mx?2 +3x—m=0.

- [314

pockel money (in ?) of 50 students in a school (Take' 2 cm = ¥ 10 on one axis and

2 cm = 2 students on the other axls.)

(i) State the modal class.

(i) Estimate the mode of the data.

41

Weeklypockel | 4y 50 | s0-60 | 60-70 | 70-80 | 80-90 | 90- 100
money (in¥) |...- IR _
No. of s’_ludenis : 2 8 ia 4 o _6___

Metallic spheres of radii 6c cm, 8 cm and 10 cm respectively are melted and

recasted into a single solid sphere. Taking T = 3.14, find the surface area of lhe solid

sphere formed correct to nearest square centimetre.

3]
q

-

When 3x° + ax? + bx - 6 is divided by (x + 2), the remainder is 20 and (x + 3) [3]

is a factor of the given polynomial. Find the values of a and b

Using ruler and compass only. construct an isosceles & ABC in which

'.AB BC 6cm, LABC 120",

Locate by construction the point P such that:
) Pisequidistant from B and C.
i) Pis equidistant from AB and BC.

i)

'Construct a circle passing through the points A, B and C

[4]
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to. cut down his daily expenses by ¥ 3. Find.the original duration of the tour.

- Question 8 ‘ Mob: 9821263050' _ |
a) * A manufacturer of T.V. sels produced 600 units in the third yearand 700 units m the . [4]

seventh year. Assuming that the production increases uniformly by a fixed number every
‘year, find : :
i) the production in the first year
ii) the production in the 10" year
i) the total production in 7 years

'b) The table given beTow shows scores obtamed by 168 shooters i in the first round of : [6]
a shooting competition, where qualifying score for the next round was scoFfing more
than 55. ' ’

Scores | 0-10 10-20 | 20-30 | 30— 40 | 40- 50 .50— 60 | 60— 70
No. of
shooters 5 1 14 26 . 34 20
3 Using a graph paper draw an ogive of the given dls!ﬁbulnon :

taking 2 cm = 10 score on one axxs and 2cm =20 shooters on the other axis.
From the onge determine :
i) the median score.
i) the number of shoolers who qualifies for the second round.
i) Inter quarlile range.

Question 9

a) In the given figure, AB =7 cm and BC = 9 c¢m, 3]

_. ‘CD is tangentto the circle at D.
1

i) - Provethat AACD ~ ADCB.
i)  Find the length of CD.

b) . A person on lour has ¥ 360 for his expenses. If he extends His tour for 4 days he has BF
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nuiieel =

U82126'.’:050: -

UV IV e -

10'-,'20.

Marks | 010 20-30 | 30—40 _40'-”50_.‘ ‘,;  60-70 | 70— 80
— , o
students 6 10 13 14 23 17 20 7
Calculate the mean marks correct to the nearest whole number by
using the short — cut method.
- Queétion 10 T o - " s v '
w1 3 5 '
Given 5 8} X= [12], where X .is a matrix
i) Wrile the order of the matrix X, T
i) Find the matrix X.
b) Find the equation of a straight line passing through the point of intersection of
5x + 2y - 10 =0 with x- axis and parallel to the line 3x - 7y + 8 = 0
c) From the top of a hill, the angles of depression of two consecutive kilometre stones

due east are found to be 30°and 45° raspectively. Flnd the helght of the hill correct to
two significant fgures

The sum of first three terms ofaG.P.is g and their productis -1,

: Find the common ratio

41

i3g

b)
)

: i)
i) -

c) Prove that ;

A model of airplane is made to a scale of 1 : 100, Calculate : _‘

the length of the airplane if the length of the model is 0.25 m,
the volume of the airplane if the volume of the model is3m?

the area of the wing of the model if the area of the wlngspan of airplane
is 20000 m?2 '

tan® A (cosec A - 1)
cosA +1

cosec? A(cosA—1)
- cosecA+1
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